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QUESTION 1

A storage manager has recently implemented a Hitachi Device Manager environment and needs to assign users to the
All Resources user group. From which two role options should the storage manager choose to create the user profiles?
(Choose two.) 

A. UserGroup 

B. ViewGroup 

C. ModifyGroup 

D. CreateGroup 

Correct Answer: BC 

 

QUESTION 2

Which two statements regarding the Hitachi Dynamic Link Manager Round Robin algorithms are true? (Choose two.) 

A. The Round Robin algorithm distributes I/Os by alternating requests across two data paths. 

B. The Round Robin algorithm distributes I/Os by alternating requests across all available data paths. 

C. The Extended Round Robin algorithm distributes I/Os to paths depending on whether the I/O involves sequential or
random access. 

D. The Extended Round Robin algorithm distributes sequential I/Os to a set of paths and random I/Os to another set of
paths. 

Correct Answer: BC 

 

QUESTION 3

You are using the Hitachi Device Manager (HDvM) CLI from a remote host to determine detailed information about a
storage system which is already registered in HDvM. Which CLI command can provide you with this information? 

A. GetStorageStatus 

B. GetServerInfo 

C. DisplayStorageArray 

D. DisplayServerInfo 

Correct Answer: B 

 

QUESTION 4
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You plan to disable automatic tier relocation of certain HDT volumes in Hitachi Dynamic Tiering. What are two valid
reasons for doing this? (Choose two.) 

A. To ensure prioritization of a volume whose I/O activity is constant. 

B. To ensure prioritization of a volume whose size is growing exponentially. 

C. To ensure prioritization of a volume whose I/O activity varies greatly. 

D. To ensure prioritization of a critical volume whose I/O workload is low. 

Correct Answer: CD 

 

QUESTION 5

You want to use Hitachi Device Manager (HDvM) to manage your existing Hitachi Dynamic Provisioning (HDP)
environment. Which three HDvM CLI commands can be used? (Choose three.) 

A. AddPool 

B. GrowPool 

C. ModifyPool 

D. MapLun 

E. AddLun 

Correct Answer: ACE 
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